m B Al B KSR R

(1Y 7E)
o & B HEGR)  HEG% ZE & @ (%) THH
1 X ] & 224,690 24.8] 1 10, 470, 369 21.8 47
2 | h - * — H 125, 623 13.9 3 5, 751, 391 12.0 46
3 7 Lr — 3 117, 845 13.0 2 5,712,953 12.0 49
4 N z & 48, 022 9.3/ 9 3,374,700 1.0 10
5 | -] 44,800 4.9 9 1, 541, 820 3.2 34
6 X 2 — F — R 28, 207 31N 1,093, 880 2.3 39
1 B & & 24,766 2.7 4 3,679,085 1.1 149
8 Ao - R P4 22, 380 2.5 12 588, 420 1.2 26
9 z % & 21,503 2.4 1 2,246, 549 4.7 104
10 = e 19,125 2.1 6 2,679,758 5.6 140
LR ) El #H  E 15,780 1.7 10 1,128, 855 2.3 12
12 Jx=v VR (B) 12, 360 1.4 13 421,418 0.9 34
13 | ( % ) 1,236 0.8 8 1,605, 429 3.3 222
14 | B b 1,226 0.8 14 394, 853 0.8 55
L » < P 5, 850 0.6 15 387, 240 0.8 66
% v 7 v (%) 4, 840 0.5 17 212,310 0.4 44
17 |5 =z — 4,055 0.4 18 190, 365 0.4 47
18 | 7 A 3 — 3,750 0.4 16 221, 865 0.5 99
19 | T - 3,490 0.4 25 65, 336 0.1 19
20 Fo s Y (%) 2,543 0.3 20 149, 468 0.3 59
217 5 v F 3 R 2,160 0.2 19 186, 900 0.4 87
22 | R + Y 7 2,120 0.2 23 83, 895 0.2 40
28 &# T H ¥ A 1,830 0.2 31 22, 260 0.0 12
24 'y ¥ + U R 1,520 0.2 22 87,833 0.2 58
25 | ( #& ) & 1,440 0.2 28 32,288 0.1 22
26 X 4 ~ E — 1,425 0.2 27 59, 115 0.1 4
21 /A ¢ L F 7 980 0.1 21 103, 005 0.2 105
28 | 7 v ARYa1—AL4 932 0.1 26 64, 302 0.1 69
29 | 5 ) 7 802 0.1 24 69, 594 0.1 87
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i ) = HEGK) kRO 2 B LR (%) FHEE
30 7 N LT 7 600 0.1 30 27,300 0.1 46
31 a—AHh Y (%) 350 0.0| 32 16, 380 0.0 47
32 D) A E o) 310 0.0] 29 29,190 0.1 94
3By oy T (B 230 0.0 33 12,705 0.0 55
34 |7 y - v 7 200 0.0 34 10, 500 0.0 53
35 > v ( E) 120 0.0 35 8, 400 0.0 70
6 F o — Uy v T 40 0.0 36 3, 360 0.0 84
37 7 _t 1) A 30 0.0 37 158 0.0 5
1 z O 1 U T 87,048 9.6 1 3,557,216 1.4 41
2 ' 0 oy E 54, 280 6.0 2 1,302, 998 2.1 24
3 | o ot Y 5,607 0.6/ 3 420, 630 0.9 75
1] v 1€ B 906, 115 100.0 48,074, 087 100.0 53

(&)
e ) = HEGH) LR oo 8 L (%) FHE(E
1 h—r— 3> (85) 4,905 24.4| 1 3,033, 398 28. 4 618
2 H L Ly (8) 1,288 6.4, 3 1,221,570 11.5 948
3 AR T (#%) 801 4.0/ 9 93, 230 0.9 116
4 | )N 3 ( &% ) 794 4.0 4 430, 626 4.0 542
5 '3 v ( #% ) 3 2 3.5 2 2,996, 490 28. 1 4,209
6 h5rax (#) 633 3.2 1 80, 493 0.8 127
i Na=7 (%) 455 2.3 17 216, 510 2.0 476
8 N EXAR (8F) 384 1.9/ 6 231,105 2.2 602
9 *h 5 — (%) 326 1.6 5 323, 663 3.0 993
10 TS a—L4L (§) 169 0.8 12 69, 563 0.7 412
1M &% & ( &% ) 74 0.4 10 88, 830 0.8 1,200
12 RST=Za—L ($5) 60 0.3] 13 19, 530 0.2 326
13 7+ F R (#H) 37 0.2 8 121,170 1.1 3,275
14 U Yy (#8) 18 0.1 16 7, 560 0.1 420
15 | AN T4T7452 (8 10 0.0 14 10, 500 0.1 1,050

EEE

TEEMLUEH

20135 584

20135 584




($54)

o % H HEGH RO ZE & @ (%) FHH
16 TISTZT (8 9 0.0 15 9,450 0.1 1,050
T o i &% WY 9,417 46.9| 1 1,712,949 16. 1 182
73 ) & 20,092 100.0 10, 666, 635  100.0 931

(Z D)

o % B HECK/8/E) LR I & @ E(%) T
1 £t = & 40, 688 13.2] 1 2,217,516 93.5 95
2 % x ] 11, 680 21.0 2 655, 347 15.8 56
3 & X 395 0.7 4 98, 475 1.4 148
4 v & (8 ) i 204 0.4 7 33, 894 0.8 166
S v 2 (8 ) F 168 0.3 9 23,814 0.6 142
6 K ~F X (& ) 32 0.1 3 85, 050 2.1 2,658
1 oYY (E) 21 0.0 10 8,400 0.2 311
8 4 A (8 ) & 16 0.0 6 45, 255 1.1 2,828
9 r « #& ) 12 0.0/ 5 97,540 1.47 4,795
0w v > (8 ) 7 6 0.0 8 23, 940 0.6 3,990
mn v «( E ) 1 0.0 11 2,625 0.1 2,625
1 TOMEBEREEY 2,254 4.1 1 881, 244 21.3 391
2 T 0OfMMERER 105 0.2 2 91,503 1.2 491

z n i F 55,588  100.0 4,144,602 | 100.0 75
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